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SECTION -1

1.  In which language Sangam literature is written ?

(a) Tamil (b)  Sanskrit (c) Marathi (d) None of the above
2. At which place Muslim League was formed in 1906 ?

(a) Multan (b) Dhaka (c) Deoband (d) Peshawar
3.  Great scholar Ashwaghosh was the contemporary of which ruler ?

(a) Chandra Gupta-I (b) Skand Gupta

(c) Kanishka (d) Harshvardhan
4.  Who had constructed the Sudarshan Lake ?

(@) Tushasf (b) Parndutt

(c) Pushyagupta Vaishya (d) Chakrapalit
5. Which animal picture is not inscribed in Ashoka’s Sarnath Pillar ?

(a) Horse (b) Elephant (c) Lion (d) Rhinoceros
6.  During whose reign the third Buddhist council was organized ?

(a) Ashok (b) Kalashok (c) Kanishka (d) Azat Shatru
7.  According to Martimer wheeler and Stuart Piggott, the date of Indus Civilization was

(a) 2350B.C.-1700 B.C. (b) 2500 B.C.- 1500 B.C.

(c) 2500B.C.-1750B.C. (d) 2800 B.C.-2500B.C.
8.  The author of ‘Prabandh Chintamani’ was

(a) Sandhyakar Nandi (b) Naychandra Suri

(c) Bhavbhuti (d) Merutung

9. In which language ‘Periplus of the Erythraean Sea’ is written ?
(a) Greek (b) French (c) German (d) English

10. Who was the Viceroy of India at the time of foundation of Indian National Congress ?
(a) Lord Lytton (b) Lord Curzon (c) Lord Dufferin (d) Lord Rippon

11. In which year Gadar party was formed ?
(a) 1911 (b) 1914 (c) 1913 (d) 1916

12. In which year Vernacular Press Act was passed ?
(a) 1878 (b) 1875 (c) 1879 (d) 1881

13. Gandhi-Irwin Pact was signed in the year :
(a) 1930 (b) 1931 (c) 1932 (d) 1935
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10.

11.

12.

13.

I |

W wTfecy fore W 8 for@n e R

(a) dftre (b) E=pd (c) Wt (d) W | Y HIS &I
1906 T GfTeTs i o1 a4 fohd T ot femar T o

(a) Head (b) TR (c) <asg (d) TSI
e fagH 1oy fohe e < GHehlel o ?

(a) @I (b) I (c) i (d) e
et oiie o1 Fomior feper shemm o 7

(a) qVEH (b) Huiga (c) IS a9 (d) =shUTferd
A oh TATY TP 0 1= |1 9] oy ifeha T2 8 7

(a) el (b) weft (€ ™ d) e
qeT Sig Tl foheteh SMEAhIAt | ST ohi Tt ?

(a) 3TH (b) HIATIMH (c) HiTsh (d) ISy
I sEieR 3 a7 furre & Irgar g g 6 fafy of -

(a) 2350%.9, - 1700 3.4, (b) 2500%.9, - 15003.9,

(c) 2500%.9. - 17503.4, (d) 2800%.9, - 2500%.4,

“gareer Fa=amfoT’ ST e o

(a) TERAC (b) TES (c) wayfd (d) =&
“Ufteetd 376 g TR Y fore s o foret it 2

(a) I (b) % (c) <A (d) st

YA TS HTUE shl TATIHT S THI TR T TEHTI i AT ?
(a) EfdeT  (b) IS oM (c) S SHIA (d) e fum

et T} k1 e fopm o femam T o ?

(a) 1911 (b) 1914 (c) 1913 (d 1916
fore T STeRIeR S e TTia foka T
(a) 1878 (b) 1875 (c) 1879 (d) 1881
Teff—gafem Tvgiia W ford Iy gxaTem gT 7

(a) 1930 (b) 1931 (c) 1932 (d) 1935
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14. Poona Pact was signed on

(a) 23" October, 1930 (b) 24% September, 1931

(c) 24™ September, 1932 (d) 24™ November, 1933
15. When was the Non-Cooperation Movement withdrawn ?

(a) 1920 (b) 1922 (c) 1931 (d) 1927
16. Third Battle of Panipat took place in the year

(a) 1757 (b) 1761 (c) 1764 (d) 1769
17. Who used to say ? “I want to be Gokhale of Muslims” :

(a) Maulana Mohammad Ali (b) Mohammad Ali Jinnah

(c) Sir Saiyad Ahmad Khan (d) Khan Abdul Gaffar Khan
18.  Which Sultan of Delhi wrote his autobiography ?

(a) Sikandar Lodi (b) Muhammad bin Tughlaq

(c) Iltutmish (d) Firoz Tughlaq

19. When did Shyam Ji Krishna Verma establish ‘India House’ in London ?
(a) 1901 (b) 1903 (c) 1905 (d) 1907

20. How many members of Uttarakhand are represented in the Lok Sabha ?
(a) 03 (b) 05 (c) 08 d 11

21. The right to reshuffle the council of Ministers rest with
(a) The President (b) The Cabinet
(c) The Prime Minister (d) The Speaker

22. Article 280 of Indian Constitution is associated with
(a) Finance Commission (b) Election Commission
(c) Public Service Commission (d)  Union Public Service Commission

23. The resolution for removing the Vice-President of India can be moved in
(a) Lok Sabha alone (b) Either House of Parliament
(c) Joint sitting of Parliament (d) Rajya Sabha

24. The Constitution of India was adopted on

(a) 15" August, 1947 (b) 9™ December, 1946
(c) 26™ November, 1949 (d) 26™ January, 1950
25. The disputes regarding the election of President are decided by
(a) The Supreme Court of India (b) The Parliament
(c) The Lok Sabha (d) The Election Commission
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14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24.

25.

T AT T EEdTeT el U 7

(a) 23 3IFEH, 1930 (b) 24 faamr, 1931

(c) 24 fTaamr, 1932 (d) 2479w, 1933

AN HATCI e aad o i 2

(a) 1920 (b) 1922 (c) 1931 d) 1927
T 1 e g fohg T gt o ?

(a) 1757 (b) 1761 (c) 1764 d) 1769
SIF gl LT o1 o “H qEeTHM! 1 Mol =1 It g ?

(a) AT Hgwg 3Tl (b) HrEwg 3reft for=

(c) W EIE I7Ewg @l (d) WM 3TgA THFRR @l

feeeft & fop goam T 31aft srrerenen foreh ?
(a) Topgteldl  (b) HeHE foH I ()  edaHy (d) SRS et

SRS ST FHT A T W STSAT gTHH’ <hl TATHHT e i ?

(a) 1901 (b) 1903 (c) 1905 (d) 1907
ITREE & feha He& ofteh {1 # fdffirea wid 8 7

(a) 03 (b) 05 (c) 08 d 11
AETTe T Heeed i i AR 2 :

(a) USUdsl  (b) HEHISH i (c) TUTEE i (d) it H

A |faerm w1 31 280 Traf-d 7
() T@amm (b) FEEEIWEM () AHTE ™M (d) T Al aT T

YRA o IT-TTUTT o B T TG AT ST Fohell & -

(a) hact Tl THT gRT (b) |EE  forw @t weq gr
(c) THG h TIYFH 3 gl (d) had TSI TAT gRT

W o1 Hiae™ 3Tfiehd foRam T &

(a) 15 30T, 1947 1 (b) 9 feomar, 1946 1

(c) 26 TEE=R, 1949 (d) 26 e, 1950 I
gt o gATa Treeeft foargt w ol fean s 2 -

(a) YA o Hai= =R gRI (b) |IEGN

(c) <% OUT g (d) TG IR g
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

36.

37.

The President can vacate his office by addressing his resignation to
(a) The Vice-President (b) The Speaker of Lok Sabha
(c) The Prime Minister (d) The Chief Justice of India

The Judges of the Supreme Court hold office till they reach the age of
(a) 58 years (b) 60 years (c) 62 years (d) 65 years

How many members are nominated for the Rajya Sabha by the President ?

(a) 08 (b)y 10 (c) 12 (d 15

The word “secular” and ““socialist” were added in the Preamble of the Indian Constitution
by

(a) 39" Amendment (b) 41° Amendment

(c) 42" Amendment (d) 44™ Amendment

The Green Highways policy in India was introduced in

(a) 2015 (b)y 2017 (c) 2019 (d) 2020
Who was the Chairman of the 15" Finance Commission of India ?

(a) Rakesh Raman (b) Ramesh Chand

(c)  Urjit Patel (d) N.K. Singh

According to World Bank’s annual Report 2020 on ‘The Ease of Doing Business’, the
India’s rank is

(a) 770 (b) 72nd (c) 68 (d) 634
The belief that economic growth will percolate down to all sectors, is known as
(a) Pump Priming (b) Trickle Down

(c) Dispersal Theory (d) None of the above

Which one of the following is not a greenhouse gas ?
(a) Methane (b) Ozone (c) Oxygen (d) Nitrous Oxide

What is the share of agriculture in India’s GDP in 2020-21 as per Economic Survey
2020-217?

(a) 17.8% (b) 19.9% (c) 16.8% (d) 17.2%
In which year the ‘Smart Cities Mission’ was launched ?

(a) 2015 (b) 2016 (c) 2017 (d) 2018
The Fiscal deficit in the Union Budget 2021-22 of India is targeted at

(a) 3.0% of GDP (b) 4.5% of GDP

(¢) 5.5% of GDP (d) 6.8% of GDP
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26.  TSHId gRT 3101 oS GraiTerd femarm ST &

(a) 39-Trsgafd ol (b) AT TWT 31ETeT i

(c) SgHEE HI (d) A o &I =R
27. gaTw =ARTEE % =T fohd 3y # Fantgia e e E 7

(a) 58°d (b) 60 (c) 62 (d) 6594
28.  TsgUfd gRI UsT {1 o foTT foha Heei bl HaIfaa fham ST @

(a) 08 (b) 10 () 12 d 15
29. YWRd % GIILM 6l TEqeHT § “emfuer” 3R “Tarare)” gt i Sl T 8

(a) 394 GIMYA gr (b) 41d GIMYH gRI

(c) 4249 ESNeH g (d) 449 GIEH g

30. WA | gNa TowmT Hifd I 61 715 ot

(a) 2015 (b) 2017 (c) 2019 (d) 2020
31. WA @ 154 fod T & AT A o 7
(a) THAWIT (b)) WG (c) 3ioid s (d) .. fag
32, ‘AER A T A W fava s i arfies {die 2020 % 3AR 9rd i i 7
(a) 774t (b) 724t (c) 68 (d) 634t
33. 9§ 9RO i T g aft &t | = qoh T, I ST ST | -
(a) O SIS (b) Toet T
(c) ER faga (d) ST T | i ff T8
34, FEffgqdia s M esa g &g 7
(a) A (b) 3TNA (c) ATSH (d) TTECH RS
35. SR FaET 2020-2021 % AR, 2020-2021 H WRA o Hehel BT 3G H HiY 1 &
G ?
(@) 17.8% (b)  19.9% () 16.8% d)  17.2%
36. ‘T T faem fopm o | Sy fepam R o 2
(a) 2015 (b) 2016 (c) 2017 d) 2018

37. WA % H< 991 2021-22 H TSN 91 Aferd @ -
(a) GDP®H13.0% (b) GDP®H14.5% (¢) GDP®H155% (d) GDPHI6.8%
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38. National Institute of Plant Genome Research is located at
(a) Gurugram (b) Ludhiana (c) New Delhi (d) Mathura

39. Which of the following is presently the largest goods export partner of India ?
(a) China (b) U.A.E. (c) Hong Kong (d) U.S.A.

40. Which one among the following is not Cold Current ?
(a) California Current (b) Banguela Current
(c) Oya Siwo Current (d) Norwegian Current

41. Which of the following countries do not have coast along Mediterranean Sea ?
(a) Italy (b) France (c) Libya (d) Germany

42. Which of the following mountain pass is not located in the state of Uttarakhand ?
(a) Lipulekh Pass (b) Shipki La Pass (c¢) Mana Pass (d) Noma Pass

43. Which of the following state of India does not have common boundary with Bangladesh ?
(a) Assam (b)  Tripura (c) Manipur (d) Meghalaya

44. Tropic of Cancer does not pass through which of the following state ?
(a) Gujarat (b) Rajasthan
(c) Tripura (d)  Arunachal Pradesh

45. The Tribes of ‘Lepcha’ and ‘HO’ are commonly found in which part of India ?
(a) Central India (b) North-East India
(¢) South India (d) West India

46. Which of the following Indian State has higher road density ?
(a) Bihar (b) Uttar Pradesh  (¢) Kerala (d) Tamil Nadu

47. Which of the mineral resource is connected with ‘Kodurite’ intrusive rock ?
(a) Iron (b) Manganese (c) Copper (d) Kaolin

48. Hirakund project utilizes which river water ?
(a) Godawari (b) Narmada (c) Son (d) Mahanadi

49. The Indira Gandhi Canal project draw waters from which of the following rivers ?
(a) Ravi (b) Beas (c) Satlyj (d) All of these
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38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

TS e S e T fa R

(a) TRU™ (b) qferam (c) 8 feeeht
frrferfiga o & % ra 1 adaM § Ted we1 ot i arefien ? ¢
(a) = (b) ITE. (c) BWTHM

= 4 g o &) 3fia (avdh) s gl B 7

(a) Hfrwifan g (b) ST g™
(c) 3T T amy (d) TEfETE gw

A fra s W AR F AT aE T ?
(a) ZeoAl (b) W (c) offsam

= 4 @ oo w1 vddig e stEs s B fRa i R v
(a) Toger@om (b)) Bwhienum () FEUE

=1 o 9 forg W T <h) ST SiveTTest | 8l o @ ?

(a) 3@Em (b) P (c) HfUTg
ot & & bt T B 9 b YT T TeRA R 7
(a) TSUC (b) TSTEIH (c) Fgu

AU T Bl ST ST : WA 6 fohg Wit | gt S @ 7
(a) AT IRA (b) STW-TH¥RA (c) cledur R

=1 0 9 fopm W US9 0 3= Ggh goHdT @ 7

(a) ToER (b) I I ©) &
7 4 8 S @ e Figuse’ siaadl 9eeH 9 efid g ?
(a) <& (b) TS (c) I
EHUE TS Tohd &t T STt ST el B 7

(a) e (b) TG (c) HH
sfew Mt T vfEs e A @ fre ad A o ardi 2 2
(a) Te (b) =H (c) Hagd

(d) =gu

(d) IwE.T

(d) <

(d) T uTE

(d) TETEE

(d) 37U T

(d) ufvad YA

(d) e

(d) 13Nt
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51.

52.

53.

54.

5S.

56.

57.

58.

59.

Who was appointed ‘CAG’ of India in 2020 ?
(a) Naresh Agarwal (b) Rakesh Sharma
(¢c) G.C. Murmu (d) Amrit Nahta

Which Minister resigned from the council of Ministers in India due to controversial Farm

Laws ?
(a) Harsimrat Kaur Badal (b) Ramvilas Paswan
(c) Sanjiv Baliyan (d) None of these

Which country is not part of ‘Quad’ ?

(a) India (b) Japan (c) Australia (d) New Zealand

Which Company in India has produced the ‘Covovax’ ?
(a) Pfizer (b) Bharat Biotech
(c) Serum Institute of India (d) Cadilla

Who has been conferred 29" ‘Saraswati Samman’ award ?
(a) Padma Sachdev (b) Vasdev Mohi
(c) Nirmal Anjan (d) Vikram Seth

The two countries which are connected with ‘Maitri Setu Bridge’ ?
(a) India & Nepal (b) India & Sri Lanka
(c) India & Bangladesh (d) India & Myanmar

Who is the Chief of International Monetary Fund ?
(a) Kristalina Georgieva (b) Thomson Kary
(c) Lesli Bon (d) Henkel Joy

Who has been appointed as President of Olympic Committee till 2025 ?
(a) Thomas Bach (b) Oliver Martin
(c) Geoff Sanders (d) Mohammed Ata

Who won the IPL 2020 ?
(a) Mumbai Indians (b) Rajasthan Royals
(c) Chennai Super Kings (d) Kolkata Night Riders

Louis Gluck, Noble Prize Winner for Literature in 2020 is from which country ?

(a) Germany (b) Canada (c) France (d) US.A.
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50. 2020 H 9 1 €0 5f. foreent fgea feam mm 2
(a) TWIAUATA  (b) TehI YA (c) et gd (d) THd AR

51.  Wid o ferm w=ft 3 ferafea iy s W Sl whaforg & sedier ¢ feam 2

(a) BT B e (b)  THfSETTE qTEeH

(c) ufa et (d) U T Y His T&l
52. I E1CY FE h feEEI AR © 7

(a) W (b) SN (c) Jfern (d) =ieivg
53. WA <hl ford Shul 3 “hiaided’ o1 3cTed fhaT 8 ?

(a) WIS (b) WA STAEH

(c) R sHITgeE AT sfugan (d) hfsem

54, 293 ‘GEEd g YR fohd fear m ¢
(a) UM EECd (b) dHcd WAl (c) Treamem () fomas

55. Qew S B UG el AISBUE ?

(a) WRA 3R 9T (b) WA 3R sfieteht

(c) WA 3R TATGH (d) ¥Na 3R =R
56. TSR g1 IV ST TG S B 7

(a) Toreeefr Sirsfian (b) amEA H

(c) &t & (d) &ha AT

57. 2025 % 3MTcifish HH 1 reet Tond Foger fepam T 2 2
(a) SHESH (b) HAfARTET  (¢) 6 a=d (d) TIEHE 37T

58. 3ATS.U1.UA. 2020 i fopEa Sfar ?
(a) WS 3T (b) TS Taed
(c) =18 g fohe (d) HIThIdT A18E TFSH

59. 2020 § Gifec % foTu Taet TEhr Sfdq 9ol g9 ok fha qu A E 7
(a) AT (b) TS (c) W™ (d) JTET
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61.

62.

63.

64.

6S.

66.

67.

68.

Which one of the following lake is located in Champawat district of Uttarakhand ?
(a) Shyamalatal (b) Taragtal (c) Chorabari Tal (d) Dodital

Veer Chandra Singh Garhwali Swarozgar Yojana started by Government of Uttarakhand is
related to

(a) Tourism (b) Medical
(c) Primary Education (d) Reverse Migration

Which one of the following river has the highest number of glaciers in the area of its
origin ?
(a) Yamuna (b) Bhagirathi (c) Alaknanda (d) Pindar

In which book Mughal and Chand dynastic relation has been described ?
(a) Jahangirnama (b) Baburnama

(c) Akbarnama (d) Nuskha-i-Dilkusha

Which one of the following is not correctly matched ?

Name Area of Work
(a) BishniDevi — Freedom Fighter
(b) DeepaDevi — Social Workers
(c) GauraDevi - Environment Supporter
(d)  Tulsi Devi — Political Worker

Who among the following has taken the reign of Kumaun from the Gorkhas ?
(a) Henry Ramsay (b) E. Gardner
(c) Trail (d) Lushington

Which one of the following is not correctly matched ?

Wildlife Sanctuary District
(a) Govind —  Uttarkashi
(b) Askot —  Pithoragarh
(c) Binsar —  Almora

(d) Sona —  Chamoli

In which year publication of ‘Almora Akhbar’ started ?
(a) 1870 (b) 1871 (c) 1878 (d) 1879

In which year Indian Military Academy was established in Dehradun ?
(a) 1919 (b) 1925 (c) 1932 (d) 1948
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60. STRIUS o IHITEd Si9e | 1 § § 9 H 3l safa 8 ?
(a) WHAE (b) dSHEATA (c) INEEI A (d) SiEa

61. STRIUS TThR gRI IF hi TRt “oiR =g, Tirg Tearelt TSR s deaf-ad 8 -
(a) WeAH (b) Taframa (c) wiafes frene (d) SfaweEd

62. Trferfaa feai d@ @ form 7 & Sam &= § gaifes et safem 2

(a) I (b) wWfRef (c) TR (d) fuvsz
63. el Ud T 991 o TEEY] o IR B fohd qdes | 9uiq fierar @ ¢

(a) TEEEMT (b)) STEE™! (c) STHeAMI (d) TEET-u-feaspan
64. T H T oA v gafera TR 7

Eic) HEST

(a) foorftedt - A aamt

(b) ST — MR ekl

(c) T e —  oiaTor fgasft

(d) geEhieht — T

65. frefafaa & & fre Mgl & TS i w1 I 6 7
(a) TRWE  (b) 3. TER (c) oo (d) 9w

66. TfoTiad o &1 a1 U el gAfaa T2 2 ?
ECEIC AT SHIE

(a) Tiferg — IR
(b) 3T ~  fueftre
(c) fomem — AT
(d) @ — =t

67. ‘ITCHIST @SR’ 1 THIYH fohd TH T 37T T ?
(a) 1870 (b) 1871 (c) 1878 (d) 1879

68. WRATA &= 3Teh1eH! fohw oY Satrgd | i i it ?
(@) 1919 (b) 1925 () 1932 (d) 1948
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69. In which Hindi month, the “Bikhoti Mela” is celebrated in Uttarakhand ?
(a) Baishakh (b) Ashadh (c) Margshirsh (d) Falguna

70. Which of the following place, High Altitude Plant Physiology Research Institute of
Uttarakhand is located ?

(a) Srinagar (b) Pauri (c) Tungnath (d) Haldwani

71. In ancient times the un-irrigated land form of Uttarakhand was known as
(a) Tjar (b) Talaun (c) Uparaun (d) None of these

72. Who was the founder of Katyuri Dynasty ?
(@) Somchand (b) Vasudev (c) Thorchand (d) Jaidev

73. In which year ‘Tehri Rajya Prajamandal’ was established ?
(a) 1935 (b) 1937 (c) 1939 (d) 1941

74. In which year the Garhwal Rifles Cantonment was established at Lansdown ?
(a) 1858 (b) 1869 (c) 1877 (d) 1887

75. In which place of Garhwal region the first tea factory was setup in the year 1843 ?
(a) Havalbag (b) Lohaba (c) Gadoli (d) None of these

76. Under whom was the district administration in the British Garhwal ?
(a) District Magistrate (b) Collector

(c) Commissioner (d) Deputy Commissioner

77. Which of the following is not an agricultural apparatus in Uttarkhand ?
(a) Kutala (b) Hal (c) Maya (d) Karboja

78. In which year the ‘Kumaun Parishad’ was established ?
(a) 1908 (b) 1912 (c) 1916 (d) 1920

79. In which year were the Gorkhas defeated by Raja Pradyuman Shah with the help of
Britishers ?

(a) 1803 A.D. (b) 1815A.D. (c) 1822 A.D. (d) None of these
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69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

“fergiet Ao’ ITurgve | for fet Ag A AAmn ST @ 2
(a) wE@ (b) WG (c) Hmefe (d) ®EH

IAEUE H 3= FIRg0 UTed INe-gey = 0 9 ford T W afea 8 7
(@) W (b) diEl () T (d) TogH!

T 99§ TGS o TR H i el Sar o1 —
() T (b) T () IR (d) ¥ & HE A

Sl I HT TEATTh B AT ?

(a) @HEG (b) drgeE () oUE= (d) SEeE

“fodt T yommvee” whi T fohe o 58 ¢
(a) 1935 (b) 1937 (c) 1939 (d) 1941

AGSH B TeaTd Ushed hl a1 forg o werfuq < =it ?
(a) 1858 (b) 1869 (c) 1877 (d) 1887

TEaTe & o fohd T W T 1843 T 91 hl Thardt oTvs TRt 7
(a) BEASMT (b) g (c) e (d) STw O F B TE

fsrfest eamer 7 forem wemmeA forees s1efia o 2
(a) Toremefis (b) HAFI (c) hIETR (d) et SitgR

11 5 9 ®F 91 ITUEUE 1 HiY TR TE & ?

(a) peel (b) A (c) Tm (d) HIEST
fopa o T Uit shY T <61 7S off 7
(a) 1908 (b) 1912 (c) 1916 (d) 1920

T S 9TE g fsrfer wameran & iRenati it forw o 95 § g T o ¢
(a) &11803 (b) &1 1815 (c) §11822 (d) U | G HIE TE
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80. Who among the following is considered as the “Father of artificial intelligence” ?
(a) Charles Babbage (b) Lee De Forest
(c) John Mc Carthy (d) J.P. Eckert

81. DNA fingerprinting was discovered by
(a) George Stark (b) Sir Alec Jeffreys
(c) Edward Southern (d) Kary Mulis

82. From where Corona Virus got its name ?
(a) Due to crown like appearance (b) Due to leaf like appearance
(c) Due to shape of its genetic material (d) None of the above

83. Oncology is the study of
(a) Birds (b) Cancer (c) Mammals (d) Soil

84. Dolphin is an example of which class ?
(a) Amphibia (b) Pisces (c) Aves (d) Mammalia

85. Yellow fever is transmitted through
(a) Aedes (b) Culex
(c) Male Anopheles (d) Female Anopheles

86. Which of the following is not a flightless bird ?
(a) Kiwi (b) Emu (c) Ostrich (d) Sarus-Crane

87. Trinitro Tolune (TNT) is a/an
(a) Anti microbial (b) Anti bacterial
(c) Explosive (d) Antiseptic

88. The first successfully launched satellite of India was
(a) Aryabhatt (b) Bhashkar-I (c) INSAT-IA (d) IRS-IE

89. Sickle cell anaemia is a disease of
(a) Basophils (b) Redbloodcells (c) Platelets (d) Lymphocytes

90. Who was the President of Indian National Congress at the time of India’s independence ?
(a) Maulana Abul Kalam Azad (b) J.B. Kripalani
(c) Dr. Rajendra Prasad (d) Jawaharlal Nehru
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80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

frferfaa @ fore “Sim gfgem o1 SHe” T e ?

(a) dEHEES  (b) o EHRE (c)

21.UA.T, IS o TThe o -
(a) AW (b) WUAE AR (o)

SHRHT AR I 3T T Hal § T gl ?

(a) T Y 3THR h BRI (b)
(c) SATATRTh Ueref o TR o HI (d)
SATehIcATSH QW% :

(a) Tf&wI w1 (b) hER (c)

<ifewd forg ol &1 IR g 7
(a) UERfeRN (b) Te (@=) (o)

fid S 1 IR0 BT 2
(a) TEEEE  (b) HHE G (c)

freffea §f ¥ ®H a1 el Sefea T8 & 7

(a) i (b) T (c) Igugt (d) TRE-oh

215ATgg! Sefgd (A1) 2

(a) WINHEREE  (b) hHIRIVHARh (c) Toopies (d) HSAAEH

W <1 JUH ToherdTqesh TR SUIE B :

(a) IARVg (b) WTSRL-1 (c) TTER-1T (d) TE.3IR.TH.-13

T hITRTeRT STTFRIAT U2

(a) TS =T (b)  TERATUIST ST (AT B /Tard <hITITehIST)

(c) lgshToLai (d) TR %

TRAE oh! Tl o THI HRATT TS HIUT T AT HiF AT 7

(a) T 3T HeA™ TG (b) .. HAAHT

(c) . Telg JETg (d) ST JE®
e e e

SABmHRff  (d) I 3R

TgaS Had (d) o =fea

T 99 3ATHR o HRT
SULreRd i Wt &Y

wAaEi e (d)  HEH

TS (9aft) (d) T

T AT gRT (d)  HIGT TS gRT




91.

92.

93.

94.

9s.

96.

97.

98.

99.

SECTION - 11
How many numbers from 1 to 100 are there, each of which is not only exactly divisible by
4 but also has 4 as a digit ?
(a) 7 (b) 10 (c) 12 (d 19

X is twice as old as Y at present. Three years ago X was three times as old as Y. How old
1s X now ?
(a) 6 years (b) 8 years (¢) 9 years (d) 12 years

When 13 times of a number is added to the number itself, the result is 112. Find the
number.

(@ 7 (b) 8 ©) 9 d 13

A hall 200 m x 50 m is to be paved with square tiles. If the price of one tile of 10 cm x 10 cm
is ¥ 3.50, then find the cost of paving the hall.
(a) 25 lakhs (b) 30 lakhs (c) 35 lakhs (d) 45 lakhs

1
A man spends 3 of his salary on food, 10 of his salary on house rent and 3 of the salary on

clothes. He still has ¥ 1,400 left with him. His salary is

(a) 7,000 (b) 7,800 (¢) 8,000 (d) 8,400
Find the missing number in the figure given below :
64 125 216
1 Q 27 8 @ 64 27 125
8 27 64
(a) 21 (b) 18 (¢) 29 (d 35

Select the pair from the options that has the same relationship as the original pair of
words :
YAWN : BOREDOM
(a) Anger : Madness (b) Dream : Sleep
(c) Impatience : Rebellion (d) Smile : Amusement

In a certain code GO = 32, SHE = 49, then SOME will be equal to :
(a) 62 (b) 58 (c) 64 (d 56

A line A is perpendicular to line B and parallel to line C. Line D is perpendicular to both
lines E and F. Line A is perpendicular to line E. Which one of the following statement is
correct ?

(@) A, Dand C are parallel. (b) C,D andF are parallel.

(c) Cis perpendicular to A. (d) B andE are parallel and perpendicular to F.
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91.

92.

93.

94.

9s.

96.

97.

98.

99.

AT — 11
18 100 % A& Ut fohat TeaTe €, St 11 shael 4 © quia: fawrfom & sfees 4 31 T 31 ot
Bl 7
(@) 7 (b) 10 ) 12 d 19

FAHHE H X 1 Y Y 1 TG E QM 2 | dH a6 @ X, Y & T A1 €1 41 | 319 X 3y
CRIE
(a) 699 (b) 8oy (c) 9oy (d 1299

IE AT T hIfTT e et S 1 atg T 31 Sie W 112 9T Bl @ |
(a) 7 (b) 8 © 9 d) 13

200 Ht. x 50 HY. % Teh GHTR § SR 215t TRl STHT 8 | Ife 10 TfY. x 10 Tt <l Tk
TE 1 G T 3.50 B, A AUTTR H T8t ST <hl Shima fHep1fery |
(a) T25@m@  (b) I307mE () T35 md (d) T457ma

@mﬁmﬁéﬁqw%m&ﬂmw,émaﬂ% mww%mmaﬁﬁmwéma@r

TEGH HAT 2 | 376 oft 39 919 T 1,400 S=d & | SHhT A & —
(a) 7,000 (b) 7,800 (©) 8,000 ) %8400

ﬁ%ﬁqmﬁaﬁﬁwﬂwaﬁw

(a) (b) 18

forpedl ® € 98 I T 1 e W1oG IH H §HH FY § HE(UA 1 -
TFTWI_E%:ﬂT{:IﬁT
(a) T : UAEE (b) w6« - Hig (c) wot:fage () H=PH : HARSH

fepeft fifeed e § GO = 32, SHE =49 &, @ SOME S &I :
(a) 62 (b) 58 (c) 64 d) 56

W@ A, @B WA RGN C o FHFETR & | @1 D, W13 E T F el W & | W@ A,
WERTEE | Fafafea d s oo adi 2 7

(a A,DTICUAATRE | (b) C,DUd FEHFAR # |

(c) C,ARTEE | (d) Bﬁ?EW%&ﬁTFWW%I
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100.

101.

102.

103.

104.

10S.

106.

107.

At what time between 5 and 6 O’clock are the hands of a clock 3 minutes apart ?

(@) 24 min.past5(b) 28 min.pastS (¢) 17min.past5 (d) 46 min. past5

The ratio of A’s age to B’s age at present is 1 : 3. The ratio of their ages after 8 years will
be 1 : 2. How many years ago was the ratio of their ages 1 : 5 ?

(a) 6 years (b) 3 years (c) 5Syears (d) 4 years
Which term comes next in the series ?
YEB, WFD, UHG, SKI, ?
(a) QGL (b) QOL (c) TOL (d) ONL
In a certain code language, ‘253° means ‘books are old’, ‘546’ means ‘man is old’ and
‘378’ means ‘buy good books’, then the code for ‘are’ is
(@) 2 (b) 4 () 5 (d 6
If you are facing North-East and move 10 m forward, turn left and move 7.5 m, then you

are :
(a) 12.5 m South from initial position  (b) 12.5 m East from initial position

(c) 12.5 m North from initial position  (d) None of these

It was Saturday on 17" December, 2002. What was the day on 22™¢ December, 2004 ?
(a) Monday (b) Tuesday (c) Wednesday (d) Sunday
How many days will be there in ‘X’ weeks and ‘X’ days ?

(a) 7X? (b)y 8X (c) 14X (d 7
Which of the following diagram indicates the best relation between women, mothers and

engineers ?
"o @
O
(©)

(A) (B) (D)
(@ A (b) B ) C (d D
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100. 5 3TR 6 &t & o= fope g0 w<t < gt 3 fire & IR WA § ?
(a) 5 SR 24 fiFe (b) 5 &R 28 fire
(c) S5s3I 17 firme (d) 5 SR 46 fire

101. SO H A 31 3T 3T B 61 3T 1 37U 1 : 3 8 | 8 TN §Tg ITehl 3T T 3TITT 1 : 2 BT |
fopa o Uget ShY ST HT U 1 : 5 97 7

(a) 6a8 (b) 3o§ (¢c) 5o§ (d) 4=8

102. Soft § H ©7 3T Y€ AT 7
YEB, WFD, UHG, SKI, ?
(@) QGL (b) QOL (c) TOL (d) OQNL

103. ¥fe wep Ffvea hd HINT ﬁ, 253" &1 31 “books are old’ ‘@, ‘546’ &1 31 ‘man is old’ 3T
378 &1 374 ‘buy good books’ g, @l ‘are’ EI»‘[%% :
(@ 2 (b) 4 (¢ 5 (d 6

104. ¢ 3T 48 IT-T I AR 2 3R 10 . 34 fewn o =, 90 goat 3R] 7.5 H. =, a9
W%
(a) Wfyes feafa & 12.5 . efqor & (b) wifye fafad 125 q@ o
(c) Hfwes feufa & 12.5 . s d (d) TH I HIE

105. 17 femmx, 2002 i AHER &1, 22 fegmsw, 2004 =1 i a1 fed o1 ?
(a) THER (b) TR (c) THAR (d) Taar

106. X gwral 3R <X feai & et forem fe g 2
(@ 7X2 (b) 8X (c) 14X @ 7

107. f=AfTRad o € s 91 3@, Afgenatl, 7raisi Td STE-aisi & 75 ey o) qe99 931 7@
Yeuidrig ?

® @

(B) (D)
(a) A () C (d D
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108.

109.

110.

111.

112.

113.

Write the following in a logical sequence :
Lock, Door, Key, Switchon, Room
1 2 3 4 5
(a) 4,3,1,2,5 (b)) 5,4,3,1,2 (c) 3,1,2,5,4 (d 4,52,1,3

Given below are two statements followed by two conclusions. Based upon these, which
answer is correct ?

Statements : (i)  Authors are learned people.
(i1)) Some doctors are authors.
Conclusions : (I) Some doctors are learned people.

(I)  Some learned people are doctors.

(a) Only (I) follows (b)  Only (II) follows
(c) Neither (I) nor (II) follows (d) Both (I) and (IT) follows
Two trains, each being 120 m. long, are running on parallel tracks in opposite directions, at

the speed of 40 metre/min and 20 metre/min, respectively. How much time will they take
to cross each other ?

(@) 1 minute (b) 2 minutes (¢) 3 minutes (d) 4 minutes
Megha ranks 21% in a class of 51. What is her rank from the last ?
(a) 3l (b) 29 (c) 30 (d 22
Five girls are sitting on a ladder. Sarla is above Chitra but below Daisy. Vimmi is between
Sarla and Chitra. Daisy is between Anu and Sarla. Who is sitting on top of the ladder ?
(a) Daisy (b) Anu (c) Vimmi (d) Chitra
Which figure will come next in the series ? Choose from the answers :
o/ —|+ ofe +[- \¢f
?
+ . \ —|— 6 o +
o] = + O
(a) (b)
+ . \ -
A T -
(c) (d)
— ® + [
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108. f=feriaa o1 wehs drfeher ohm § fetfau -
arel,  olaren, 9, e aed,  sEd

1 2 3 4 5
(@ 43,1,2,5 (b) 543,12 () 3,1,2,5,4 (d 4,521,3

109. = € HoF TE 37 W 3neied < e fgu T E | 96 STUR WA A I A ?
HYT: () AGH A AT E |
(i) P Fafrcass TEH 8Id ¢ |
et (1) oo fafrcrs M § |
(1) $ T @ fafereass 8id & |
(a) hact (I) ITEROT HATE | (b) e (II) STTERU HLAT 7 |
() (DTIANEHI BTG R | (d) (1) T (1) T STTHT HLd & |

110. T TAMRSAT Iedeh 120 M. orelt, TR veiE R faqdia fesnati 4 shas: 40 Hiey/fme qen
20 e/ fie 3 =Tl 8 = &1 8 | QI Ueh 8L i foh & 8§ gR s ot ?

(a) 1T (b) 2T (c) 3frme (d) 4fme

111, =1t 51 faenfi i wend 219 UM 2 | SHRT A H N A ST AT LEE ?
(a) 31 (b) 29 (c) 30 d 22

112. T Higt Ul AShaT 91 & | T, oo 8 S Aferd oot @ = 7 | foefi, g wa e
S8 | S9fl, 3] 9 Tl h AL © | Wil WHTH SWHH & ?

(a) St (b) 3 (c) Tow=ht CORREEL

113. FrAfafEa sfaen § s 3mepfa srrel g ? TR | M -

o/ —|+ ofe +[- \¢f
?
+ o\ |- flo +
o] — + (0]
(a) . (b) N -
0 + y —
() (d)
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114. In the following figure, find the missing number :

5/15\6 6/, \7 %\0

4 5 8

(a) 31 (b) 41 ) 72 d) 82

115. Observe the following figure, which part represents the students who are singers but not

actors ?
. —> Students
b
d £ —> Actors
g )
— Singers
(a) a (b) b () ¢ (d d

116. In the following, find the missing number :
68 :130::?7:350
(a) 210 (b) 222 (c) 232 (d) 260

117. If REASON is coded as 5 and BELIEVED as 7, then what is the code for
GOVERNMENT ?

(@ 7 (b) 8 ) 9 d 10

118. A group of numbers is given, choose another similar group of numbers :
(32,24, 8)
(a) (36,32,42) (b) (34,24,14) (c) (24,16,0) (d) (42,34,106)

119. Find the number which is different from others in the following group :
8314, 2709, 1315, 2518
(a) 8314 (b) 2709 (c) 1315 (d) 2518

120. A, P, R, X, S and Z are sitting in a row. S and Z are in the centre and A and P are at the
ends. R is sitting just on the left of A. Then, who is sitting on the right of P ?

(a) A (b) S ) Z d X
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114. FrefeRaa fom 8, e e s it :

%X %N %\0
4 S 8
(b) 41 ) 72 d

115. = feu 7 fo=t o1 37arctien ot | Shi9 91 91 ST bl YeiRid shidT & Sl TRk & W 30T 181 7

(a) 31 ) 82

> forameff
a
b
g s
(a) a (b) b () ¢ d d
116. Tr=feriad |, T Te F1a Hifee -
68 : 130 :: 2 : 350
(a) 210 (b) 222 (c) 232 (d) 260

117. 3¢ REASON 1 %< 5 3T BELIEVED %1 7 8, @ GOVERNMENT &1 HZ FIT & ?
(a) 7 (b) 8 ) 9 d 10

118. feu g T Hyg  THEY goU A1 §Hg I :
(32,24, 8)
(a) (36,32,42) (b) (34,24,14) (c) (24,16,0) (d) (42,34, 16)

119. = TCU TTC THg § 39 G ! Fd HITT AT 3T T § T 8 -
8314, 2709, 1315, 2518
(a) 8314 (b) 2709 (c) 1315 (d) 2518

120. A,P,R, X, SN ZTH U HSSE | STIZAAH g IR ATI P BRI W E | R focispet A 6
A % ST R | 9 P % gRff IR BH SR 7
(a A (b) S ) Z d X
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T — 11
121. Feffgad o vt adfi oo e s AT R ?

(a) ST (b) =T (c) IuEd (d) IFETR
122. fr=afafaa 9 @ F 91 ey -foivyw 1 e g @ 2

(a) EIEd (b) TIa (c) &= (d) HEEE
123. fFafafgad a P A I a8 7

(a) oAT@l o AT F& @ | (b) H TSI TEAT % |

(c) T 3ok G i ST | (d) 3G I 3E T |
124. fAfdfga AP am adi g 7

(a) TEISgA@E g | (b) WA RRGIRIME |

(c) T AMINTeh W gl W&l § | (d) T SSRG9I IR |

125. FAfafaa o @ s 91 315e =18’ 1 yFEar= @i 8 ?
(a) & (b) @S (c) Hed (d) g

126. T & T 9 A1 31 I[g T ST R ?
(a) SR (b) Irfawnfe (c) 3ENA (d) 3rETaA

127. ‘g@ =Afed 9: §5d Sietd & | — | fomrsy— ooy g —
@) 7@ (b) = () Wm: (d) =&

128. CRITHATS’ &1 dcdd &9 =1 81T ?
(a) <rafdmEn (b)  EUSTEATHT (c) rumTfeTeRt (d) ST

129. “SrifagTfies’ o Tdieh WId ol e i dTeTl Hal el BT —
(a) 3fdgTE % S1g 1 (b) ST sfoem fawaes
(c) sfaemm @ gd & (d) IraTfeeeh sfogm @ Trafd

130. Fr=ferfea & @ w91 vse ‘319’ Fifaeam B 7
(a) ¥H (b) w8 (c) @H (d =
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131. “Sac=fasr Frfefaa @ & form ame & fou sugaa wse 2 7
(a) TSrEent ufd wew =ren Tl | (b)  TorEenT ufd wew & fted ST & |
(c) Taept ufa wew M ST 8 | (d) TSaept ufa we e oite T A |

132. FAfafad e gu g S aryg 2
(a) TA-3EATT (b) TWEh-TIuTeh (c) Tu-femm (d) gu=-foa=

133. ‘GG 1 Y Yohe i I TR HH AT R ?
(a) FATE g A el Teh el (b) < 1Y B o T el
(c) ST Y | R T T HA Tl (d) T &Y | R =T Fehel ATelt

134, ‘GG o1 Ol foeim B —
(a) TG (b) TRgTRe (c) T (d) FrgTRe

135. fr=ifRa 4 @ ‘I wree k1 faeim 8 —
(a) SR (b) g () | (d) IR

136. ‘3Tgd’ 1 Hal faam g —
(@) & (b) SFTEd (c) SFgd (d) 3fgd

137. ‘S |1 g Tt 1S 7’ ST § hiF &1 fomivur 3 ?
(a) @ISR forRIsoT (b) RETETE faso
(c) TUTaTE forreoT (d) wferor

138. F=AfaRaa o @ i @ =i’ (IgHT) *1 w=EErE 76 8 ?
(a) T (b) T (c) TRHIT (d) 3maFyE

139. ‘Td9’ <1 FE W@iE g —
(a) favg (b) JRII (c) 3= (d) afasme

140. Trferfad deam-dewea W 8 G HH o1 FYG R 7
(a) TF-T@  (b) HEU-TWEA () TOH-TAT (d) g3
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141. ‘A9 &1 G81 37 ¢ A1 I16 I 91 81T ?
(a) fog-3mas®s (b)) IWAHTE= (c) TEmswre=n (d) et T &=

142. 9 9 %19 91 3Iee ‘30T’ &1 WG A8l @ ?
(a) Taftm (b) U (c) AR (d) 3redt

143. TeTioRa amerITeT o foTu “3TereRt’ STeg Se BT &
(a) B A TS R A HHAT | (b) SN BT Wfekaqeieh el fohAT ST Hehall |
(c) ST T &l fepa ST Fehll | (d) ST A &9 § foran ST TRt R |

144. “3rsifa’ f=ferfaa § @ forg W w1 dcam @ 7
(a) 3 (b) 3ITEHR (c) SITE (d) 3wt

145. ‘IUTAT’ e fopd Irec hTI AT & ?
(a) 3T=M (b) 3Tt (c) 3T (d) 3T

146. THhR Torersy & s oot forsior s1ee BT —
(a) TUGHRYU (b)) THCHINGD (c) THHNIA (d) <THHING

147. fefofga i a s AT e deam @ ?
(a) o™ (b) =TS (c) (d) @

148. FrAferfiaa § @ 61 a1 3w fersrs - fersryor 61 widies Ieretor & ?
(a) BJA-PIR  (b) TUI-TEH (c) WeAT-YelTS (d) EX-TET

149. I 91 36 “HHA 1 IAF A8l @ ?
(a) TR (b) aAERH (c) dThI d) F=

150. frferfiga d @ forg wrec <l I a8 7
(a) wB& (b) A& (c) 3nefA (d) IFagH
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